SHURJOINT®

AL 7722 =
}iﬁ;&\»‘%

%aaﬁ%?DZ%ﬁ—ﬁ?<A@*%&1é’f

PR FARDEGFET R T PR R
B E- CRENABE BRI E R
T Bt {E o e ¥ E(EPDM)AE 2 T a4 kA5
oS o MR- A v‘i;‘%."z’@ ¢ & RAL3000 =

(&1 5

-

§ Wik E A

AT AR

A8 7722 W=

EiE Al ok

2 w2 A 2y
rs F\APE'I' P

HERL

10

YEAR
LIMITED
WARRANTY
R AR F
FERAA AT
www.shurjoint.com

’ ‘}f‘-’l‘ﬁé\bi%ﬁ

Bt 1 EF shen e o
L 2R R 4 +0.13,-0/ :

i xiA g B g (CWP)* +3.2,-0 A B C D sk H &
) e PSI #rd #rd #ed e #vd e B
A =4 A 4 Bar A -4 B A -4 A -4 A 4 AE -4 AR
2x1 2.375x1.315 300 1.50 2.68 1.57 5.04 2.87 Yax 2% 2.2

50 x 25 60.3 x 33.4 20 38 68 40 128 73 M10 x 55 1.0
2X 1% 2.375x 1.660 300 1.75 2.80 1.57 5.04 3.22 Y% x 2% 2.2
50 x 32 60.3 x 42.2 20 45 71 40 128 82 M10 x 55 1.0
2x1% 2.375x 1.900 300 1.75 2.80 1.57 5.04 3.22 Y x 2% 2.6
50 x 40 60.3 x 48.3 20 45 71 40 128 82 M10 x 55 1.2
2% x1 2.875/3.000 x1.315 300 1.50 2.95 1.89 5.75 2.87 Y2ax3 4.0
65 x 25 73.0/76.1x 33.4 20 38 75 48 146 73 M12 x 75 1.8
2% X 1Y 2.875/3.000 x 1.660 300 2.00 3.11 1.89 5.75 3.22 Y2ax3 3.7
65x 32 73.0/76.1x 42.2 20 51 79 48 146 82 M12 x 75 1.7
2% x 1% 2.875/3.000 x 1.900 300 2.00 311 1.89 5.75 3.22 ¥2x3 4.2
65 x 40 73.0/76.1x 48.3 20 51 79 48 146 82 M12 x 75 1.9
3x1 3.500 x 1.315 300 1.50 3.30 2.20 6.30 2.91 Y2ax3 3.7
80 x 25 88.9 x 33.4 20 38 84 56 160 74 M12 x 75 1.7
3x1Ya 3.500 x 1.660 300 2.00 3.50 2.20 6.30 3.46 Y2ax3 4.0
80 x 32 88.9 x42.2 20 51 89 56 160 88 M12 x 75 1.8
3x1% 3.500 x 1.900 300 2.00 3.50 2.20 6.30 3.46 Y2ax3 4.2
80 x 40 88.9 x48.3 20 51 89 56 160 88 M12 x 75 1.9
3x2 3.500 x 2.375 300 2.50 3.58 2.20 6.30 3.98 Y2ax3 4.8
80 x 50 88.9 x 60.3 20 64 91 56 160 101 M12 x 75 2.2
4x1 4.500 x 1.315 300 1.50 3.89 2.83 7.48 2.63 ¥2x3 4.4
100 x 25 114.3x33.4 20 38 94 72 190 67 M12 x 75 2.0
4x 1Y 4.500 x 1,660 300 2.00 3.89 2.83 7.48 3.35 ¥2x3 4.6
100 x 32 114.3x42.2 20 51 99 72 190 85 M12 x 75 2.1
4 x 1% 4.500 x 1.900 300 2.00 3.89 2.83 7.48 3.35 ¥2x3 4.8
100 x 40 114.3x48.3 20 51 99 72 190 85 M12 x 75 2.2

F-02-1/4 Rev.M 20160309



http://www.shurjoint.com/
http://www.shurjoint.com/

SHURJOINT®

B 7722 B A B E

$o4 1 T sl AR T =
i e v R 4 +0.13,-0/ e

i xAE 3 CWP)*  +3.2,0 A B c D M4 HE
# #r PS] #+d e ®d | Bd #e ¥ EF
A %( A E Bar a J*i? A J*i? A E’ A f{ A fz( 28 ﬁ ARE
4x2 4.500 x 2.375 300 2.50 4.13 2.83 7.48 3.98 Y2x 3 5.9
100 x 50 114.3 x60.3 20 64 105 72 190 101 M12 x 75 2.7

4 x 2% 4.500 x 2.875 300 2.75 4.37 2.83 7.48 4.40 Y2x 3 6.6
100 x 65 1143 x73.0 20 70 111 72 190 112 M12 x 75 3.0
4.500 x 3.000 300 2.75 4.37 2.83 7.48 4.40 ¥2x3 6.6

100 x76.1 mm 1143 x76.1 20 70 111 72 190 112 M12 x 75 3.0
4x3 4.500 x 3.500 300 3.50 4.40 2.83 7.48 5.35 % x 3% 11.4
100 x 80 114.3 x88.9 20 89 112 72 190 136 M16 x 90 5.2
5x2 5.500/5.563 x 2.375 300 2.50 4.88 3.39 9.29 4.00 % x 3% 9.2
125x 50 139.7/141.3 x 60.3 20 64 124 86 236 102 M16 x 90 4.2
5x 2% 5.563 x 2.875 300 2.75 5.00 3.39 9.29 4.65 % x 3% 9.5
125 x 65 141.3 x73.0 20 70 127 86 236 118 M16 x 90 4.2
5.500 x 3.000 300 2.75 5.00 3.39 9.29 4.65 % x 3% 9.5

139.7.mm x76.1 mm 139.7 x 76.1 20 70 127 86 236 118 M16 x 90 4.3
6 x1Ya 6.500/6.625 x 1.660 300 2.00 5.00 3.86 10.08 3.66 % x 5 516 9.2
150 x 32 165.1/168.3 x 42.2 20 51 127 98 256 93 M16 x 135 4.2

6 x 1% 6.500/6.625 x 1.900 300 2.00 5.00 3.86 10.08 3.66 % x 5 516 9.5
150 x 40 165.1/168.3 x 48.3 20 51 127 98 256 93 M16 x 135 4.3
6x2 6.500/6.625 x 2.375 300 2.50 5.20 3.86 10.08 3.98 % x 5516 10.6
150 x 50 165.1/168.3 x 60.3 20 64 132 98 256 101 M16 x 135 4.8
6 x 2% 6.625 x 2.875 300 2.75 5.50 3.86 10.08 4.65 % x 5516 12.1
150 x 65 168.3 x 73.0 20 70 140 98 256 118 M16 x 135 55
6.500 x 3.000 300 2.75 5.50 3.86 10.08 4.65 % x 5 5/16 12.1

150 x76.1 mm 165.1 x 76.1 20 70 140 98 256 118 M16 x 135 5.5
6x3 6.500/6.625 x 3.500 300 3.50 5.50 3.86 10.08 5.39 % X 5 5/16 12.3
150 x 80 165.1/168.3 x 88.9 20 89 140 98 256 137 M16 x 135 5.6
6x4 6.500/6.625 x 4.500 300 4.50 5.50 3.86 10.08 6.46 % x 5 5/16 15.4
150 x 100 165.1/168.3 x 114.3 20 114 140 98 256 164 M16 x 135 7.0
8x2 8.625 x 2.375 300 2.75 6.54 4.72 12.87 3.89 Ya X 4% 12.8
200 x 50 219.1x60.3 20 70 166 120 327 104 M20 x 120 5.8
8 x 2% 8.625 x 2.875 300 2.75 6.54 4.72 12.87 4.09 Ya X 4% 13.2
200 x 65 219.1x73.0 20 70 166 120 327 104 M20 x 120 6.0
8.625 x 3.000 300 2.75 6.54 4.72 12.87 4.09 Ya X 4% 13.2

200x76.1 mm 219.1x76.1 20 70 166 120 327 104 M20 x 120 6.0
8x3 8.625 x 3.500 300 3.50 6.54 4.72 12.87 5.04 Ya X 4% 15.8
200 x 80 219.1x88.9 20 89 166 120 327 128 M20 x 120 7.2
8x4 8.625 x 4.500 300 4.50 6.54 4.72 12.87 6.46 Ya X 4% 16.5
200 x 100 219.1x114.3 20 114 166 120 327 164 M20 x 120 7.5

T EESERLIES

<t o

1R AR -

F-02-2/4 Rev.M 20160309




SHURJOINT®

18 7722 H R
o+ ,fﬁ. :

% 54455 & ASTM A536, Gr. 65-45-12 & ASTM A395
Gr. 65-45-15 » § i<ad 5 & 65,000 psi (448 MPa) -

AN § 4

LS| R fﬁ ¢ &% RAL3000 =4 ik -

O E78 @ #uzds o

O £33 4% % (RAL3000 =4 & H vpad )
‘BB LR

5 %% “EPEPDM(¢ /5 1 - E4) i ¥ 40

% AZiE +2300F (+110°C) s #-k F B o 7R * 3
110°C T ehb ok » A9 gt 3t 2 F ~ e 3 33
ks Sk fﬁf&‘ﬁ/ﬁqs’fﬁiﬁwr“?ﬁ#ﬂ%‘r
B H R AT B S ABE KIS Lo 1iF
B R -29°F (-34°C) 1 +230°F(+110°C)

R ALGR B RIS T T
# %@ EPDM #E7 & i‘q”*’“z&%?&‘

/4’

mEdh -C i

Cv 245 /1 il & 5 60°F(+16°C)éirk » i 64 # A # 1.0 psi
R PEE SdB R o T T A N E e

Cv=z ——
JAP
WP Cv=ing ik

Q =kind (& At fdi)
AP =i i § B (psi)

I o L e

F-02-3/4 Rev.M 20160309

O (#5F) %% “T'Nitrile (¢ #5: - i) §* ¥ 7
Mo T S I A BEE VR
+150°F (+66°C) ek
1 78 R ¢ -20°F 3 +180°F(-29°C 3 +82°C) -
7 p % N HCR H RO B A2 +150 OF (+66°C)
BT F WL R ALE +140°F (+60°C) -

% % “O"—Fluoroelastomer -
% % “L"-Silicone -

A 4

O HviEs:

ol X Z 4R Y :

SAETE SRR A R 304 B & ASTM A449-83a (&
A183 Gr. 2) » b i#udt s & 110,000 psi (758 MPa) - = &
EANY o TS AT 5 5 5 ASTM A563 -

A 7722 =i Cv i

i ¢ ov i A< ovie
# 1 g wed /26
1 25 2% 125
1312/4 45 506 200
520 100

AL 7722 BR= B EE
i Wy EE AL iy E &
et [0 | mEERER/D | B 00 | mEERIER/DC
1% 55 2%, 11.0
32 17 65 3.4
1% 7.0 3 135
40 2.1 80 41
2 9.0 4 20.0
50 2.7 100 6.1




T
SHURJOINT®

%

. A AT ERS(CWP AARA)  FhAd B4 BE» 30— S F g 58 ASTM F1476 4= AWWA C606 L &_sipl e 4 4 k&4 (CWP) -
FE o FE A R AR S o B v R B TR EEE A A A o

° FYLAGET R A BT N e RS 0 ) P FREE R R cFERA A AT R G ORATRETH -

® R ERGF - RELE ST LA EHREA 0 1% B (AWWA C606 5.2.3) »

o F2 LRSS F R iz i F it o ik LRRE Bk

o 0ARHEETNUBAST R F P NEMIRIEYRADER LAY 2 BT S .

® Ea AGETIFLRASRFERE RN 2V AL e

F-02-4/4 Rev.M 20160309



